Manual | Producthandleiding | Gebrauchsanweisung | Manuel du produit

Distribution by:
- Viking Choice; AP Onderdelen B.V., Nijverheidstraat 8, 6914AD, Herwen, Netherlands
- contact: sales@vikingchoice.nl

Offer EAN: 8720249122661
Related EAN: 5902854513420

Attached manuals:
- 370748_new%20manual%20002.pdf




ODIKING @PORTS

AP-ONDERDELEN B.V.










|

@ M10x130 1PCS

|

@ M10x120 2PCS

pmm (f§

@ M8x65 1PCS

i

@ MI10X65 4PCS
s

1 R |

® MBX16 2P

F

® M10x55 1PCS

@ M8x16 1PCS

'w

i

®

M6 x50 4PCS

1177

@

M6 16 4PCS



INSTALLIATION

STEP |

{© barbell stand safery hokder @ with tight nur adiust nibe for foong sk

/@
@
\_ ®
STEP3

@rack @ @ with tighten nut to fix

STEP2

B holder ube @ nut P ught the frame
Ebed frame @ with screw adjust ughtly

STEP4

£l extemsion Q) wath the screw to tiglten
€ ot the bur with the fosm
0 foam

%
&




INSTALLATION

STEP7

STEPB . .
B high quality sit cushion

(1) mstert the safety pin

entight here all the serews ’9:] entight all the screws to fix cushion

=)
—

G

STEP B

@ insert the safety bar throu

STEPS

\ A 1o fix cushion for leaning on with screws

- @ tighten the screws

-——

the holes

© safety stand holder




INSTALLATION

STEP10 STEP I
) insert the safety pin to fox barbell holder P foam Ninsert the tube into bracket
_ H insert the bar through the hole with foams
MSSCRE NUT x2PCS w W entight the screw to fix the rack
_#,I"/ Q@ AT LAST INSTALL THE JUMP RING

FINISH




